

## A NOTE ON SOLUTIONS OF SOME DIFFERENTIAL-DIFFERENCE EQUATIONS

X. QI, Y. LIU AND L. YANG

*University of Jinan, Jinan, Shandong, China*

*Shaoxing College of Arts and Sciences, Shaoxing, Zhejiang, China*

*Shandong University, Jinan, Shandong, China*

E-mails: *xiaoguang.202@163.com, xiaogqi@mail.sdu.edu.cn;*  
*palbipul86@gmail.com, liuyongsdu@aliyun.com lzyang@sdu.edu.cn*

**Abstract.** This research is a continuation of the recent paper by X. Qi and L. Yang [15].

In this paper, we continue our study concerning existence of solutions of a Fermat type differential-difference equation, and improve the results obtained by K. Liu et al. in [8, 10].

**MSC2010 numbers:** 30D35, 39A05.

**Keywords:** Fermat type functional equation; entire solution; Nevanlinna theory.<sup>1</sup>

### 1. INTRODUCTION

A number of papers are devoted to the study of solutions of the following Fermat type functional equation:

$$(1.1) \quad f(z)^n + g(z)^n = 1.$$

For instance, in the case  $n \geq 4$ , Gross [3] has proved that the equation (1.1) has no transcendental meromorphic solutions. For the entire case, Montel [11] established that (1.1) has no transcendental entire solutions when  $n \geq 3$ . For  $n = 2$ , Gross [4] showed that the equation (1.1) has the entire solutions  $f(z) = \sin(h(z))$  and  $g(z) = \cos(h(z))$ , where  $h(z)$  is any entire function, and no other solutions exist.

Later on, many authors investigated the generalization of equation (1.1) (see [17, 19, 21], and references therein). Recently, many articles were focused on complex difference equations. The background for these studies lies in the recently developed difference counterparts of Nevanlinna theory (see [1, 2]). Meanwhile, the difference analogues of the Fermat type functional equations have been investigated in a number of papers (see [7, 9, 12, 13, 14, 16, 18, 22]).

<sup>1</sup>This work was supported by the National Natural Science Foundation of China (No. 11301220, No. 11371225, No. 11401387, No. 11661052 and No. 11626112), the NSF of Shandong Province, China (No. ZR2012AQ020), the NSF of Zhejiang Province, China (No. Q14A10013) and the Fund of Doctoral Program Research of University of Jinan (XBS1211).



In the recent publications Liu et al. [8, 10] discussed the question of existence of entire solutions of finite order for the following Fermat type differential-difference equation:

$$(1.2) \quad (f'(z))^n + f(z+c)^m = 1.$$

Specifically, the following result was obtained.

**Theorem A.** *The equation (1.2) has no transcendental entire solutions of finite order, provided that  $m \neq n$ , where  $m$  and  $n$  are positive integers.*

In [15], the authors of this paper have obtained a similar result for more general equation.

**Theorem B.** ([15]) *Let  $f(z)$  be a transcendental meromorphic function of finite order,  $m$  and  $n$  be two positive integers such that  $m \geq 2n+4$ , and let  $H(z)$  be a meromorphic function satisfying  $\overline{N}(r, \frac{1}{H}) = S(r, f)$ . Then  $f(z)$  is not a solution of the following equation:*

$$(1.3) \quad (f'(z))^n + f(z+c)^m = H(z).$$

In this paper, we continue our study concerning existence of entire solutions of equation (1.3). To simplify the proofs, we transform the equation (1.3) into the following:

$$(1.4) \quad f(z)^n + (f'(z+c))^m = P(z).$$

In what follows, we assume that the reader is familiar with the elements of Nevanlinna theory (see [6, 20]). Now we are in position to state the main results of this paper.

**Theorem 1.1.** *Let  $P(z)$  be a polynomial, and let  $n$  and  $m$  be positive integers such that  $n \neq m$ . Then the equation (1.4) has no transcendental entire solutions of finite order.*

The following question arises naturally: what happens if in equation (1.4),  $P(z)$  is a transcendental entire function? Our next result concerns this question, where we consider the special case:  $P(z) = r(z)e^{s(z)} + q(z)$ .

**Theorem 1.2.** *Let  $P(z) = r(z)e^{s(z)} + q(z)$ , where  $r(z)$ ,  $s(z)$  and  $q(z)$  are nonzero polynomials, If  $n$  and  $m$  are two positive integers satisfying  $n > m+1$ , then the equation*

$$(1.5) \quad f(z)^n + (f'(z+c))^m = r(z)e^{s(z)} + q(z)$$

*has no transcendental entire solutions of finite order.*



**Remark.** The assertion of Theorem 1.2 is not true, if  $n = m + 1$  or  $n < m$ . For example, when  $m = 1$ , the following equation

$$f(z)^2 + f'(z + c) = e^{2z} + 1,$$

where  $c = \ln 2 + i\pi$ , has a finite order transcendental entire solution  $f(z) = e^z + 1$ , and the transcendental entire function  $f(z) = e^z + z$  solves the equation

$$f(z) + (f'(z + c))^2 = \frac{1}{4}e^{2z} + z + 1,$$

where  $c = \ln \frac{1}{2} + i\pi$ .

The following result contains a partial answer as to what may happen if  $n = m$  in Theorem 1.2.

**Theorem 1.3.** Let  $f(z)$  be an entire function of order  $1 \leq \sigma(f) < \infty$  and  $\lambda(f) < 1$ , and let  $P(z) = r(z)e^{s(z)} + q(z)$ , where  $r(z)$ ,  $s(z)$  and  $q(z)$  are nonzero polynomials. Then  $f(z)$  is not a solution of equation (1.5) when  $n = m$ .

In the above stated results we considered only the finite order solutions of equation (1.4). The next result concerns the existence of infinite order solutions of (1.4).

**Theorem 1.4.** Let  $P(z)$  be a nonzero entire function of finite order, and let  $m$  and  $n$  be positive integers. Let  $f(z)$  be an entire function satisfying the conditions:  $\lambda(f) < \sigma(f) = \infty$  and the hyper-order  $\sigma_2(f) < \infty$ . Then  $f(z)$  is not a solution of equation (1.4).

## 2. SOME LEMMAS

**Lemma 2.1** ([2], Theorem 2.1). Let  $f(z)$  be a meromorphic function of finite order, and let  $c \in \mathbb{C}$ . Then

$$(2.1) \quad m \left( r, \frac{f(z+c)}{f(z)} \right) + m \left( r, \frac{f(z)}{f(z+c)} \right) = S(r, f).$$

**Lemma 2.2** ([1], Theorem 2.1). Let  $f(z)$  be a transcendental meromorphic function of finite order  $\sigma(f)$ , and let  $c \in \mathbb{C}$ . Then

$$T(r, f(z+c)) = T(r, f(z)) + O(r^{\sigma-1+\varepsilon}) + O(\log r).$$

Thus, if  $f$  is a finite order meromorphic function, then

$$T(r, f(z+c)) = T(r, f) + S(r, f).$$

**Lemma 2.3** ([6], Theorem 2.4.2). Let  $f(z)$  be a transcendental meromorphic solution of the equation

$$f^n A(z, f) = B(z, f),$$

where  $A(z, f)$  and  $B(z, f)$  are differential polynomials in  $f$  and its derivatives with small meromorphic coefficients  $a_\lambda$ , in the sense that  $m(r, a_\lambda) = S(r, f)$  for all  $\lambda \in I$ . If  $d(B(z, f)) \leq n$ , then  $m(r, A(z, f)) = S(r, f)$ .

**Lemma 2.4** ([20], Theorem 1.51). Suppose that  $f_j(z)$  ( $j = 1, \dots, n$ ) ( $n \geq 2$ ) are meromorphic functions, and  $g_j(z)$  ( $j = 1, \dots, n$ ) are entire functions satisfying the following conditions:

- (1)  $\sum_{j=1}^n f_j(z)e^{g_j(z)} \equiv 0$ .
- (2)  $g_j(z) - g_k(z)$  are not constants for  $1 \leq j < k \leq n$ .
- (3) For  $1 \leq j \leq n$  and  $1 \leq h < k \leq n$ ,  $T(r, f_j) = o\{T(r, e^{g_h - g_k})\}$ ,  $r \rightarrow \infty$ ,  $r \notin E$ , where  $E \subset (1, \infty)$  is of finite linear measure. Then  $f_j(z) \equiv 0$ .

**Lemma 2.5** ([5]). Let  $f(z)$  be a transcendental entire function of infinite order and  $\sigma_2(f) < \infty$ . Then  $f(z)$  can be represented in the form  $f(z) = U(z)e^{V(z)}$ , where  $U(z)$  and  $V(z)$  are entire functions, and  $\lambda(f) = \lambda(U) = \sigma(U)$ .

### 3. PROOF OF THEOREM 1.1

Suppose there is a transcendental finite order entire solution  $f(z)$  of equation (1.4). We discuss the following three cases.

Case 1. If  $n > m$ , then rewrite the equation (1.4) as follows:

$$f(z)^m f(z)^{n-m} = P(z) - \left( \frac{f'(z+c)}{f(z+c)} \frac{f(z+c)}{f(z)} \right)^m f(z)^m.$$

Applying the logarithmic derivative lemma, Lemmas 2.1, 2.3 and taking into account the assumption  $n > m$ , we conclude that

$$T(r, f^{n-m}) = (n-m)T(r, f) = S(r, f),$$

yielding a contradiction.

Case 2. If  $m > n = 1$ , then we have  $f(z) + (f'(z+c))^m = P(z)$ . Differentiating the above equation, we get

$$(3.1) \quad f'(z) + m(f'(z+c))^{m-1} f''(z+c) = P'(z).$$

Set  $f'(z+c) = F(z)$ , then  $f'(z) = F(z-c)$ . Moreover, in view of (3.1), we have

$$F(z-c) + m(F(z))^{m-1} F'(z) = P'(z),$$

Rewrite the above equation as

$$m(F(z))^{m-1} F'(z) = P'(z) - \frac{F(z-c)}{F(z)} F'(z).$$



Using Lemmas 2.1, 2.3 and taking into account the assumption  $m > n = 1$ , we get

$$T(r, f'(z+c)) = T(r, F') = m(r, F') = S(r, F') = S(r, f'(z+c)),$$

yielding a contradiction.

Case 3. If  $m > n \geq 2$ , then by the second fundamental theorem for three small target functions, we obtain

$$\begin{aligned} mT(r, f'(z+c)) &= T(r, (f'(z+c))^m) \\ &\leq \overline{N}\left(r, \frac{1}{(f'(z+c))^m}\right) + \overline{N}\left(r, \frac{1}{(f'(z+c))^m - P}\right) + S(r, f). \end{aligned}$$

Furthermore, equation (1.4) gives  $mT(r, f'(z+c)) = nT(r, f) + S(r, f)$ . Therefore, we can write

$$\begin{aligned} (m-1)T(r, f'(z+c)) &\leq \overline{N}\left(r, \frac{1}{(f'(z+c))^m - P}\right) + S(r, f) = \overline{N}\left(r, \frac{1}{f^n}\right) + S(r, f) \\ &\leq T(r, f) + S(r, f) = \frac{m}{n}T(r, f'(z+c)) + S(r, f), \end{aligned}$$

implying that  $T(r, f'(z+c)) \leq (\frac{1}{m} + \frac{1}{n})T(r, f'(z+c)) + S(r, f)$ , which contradicts the assumption that  $m > n \geq 2$ . Theorem 1.1 is proved.

#### 4. PROOF OF THEOREM 1.2

Let  $f(z)$  be a transcendental entire solution of finite order of equation (1.5). Then differentiating (1.5) and eliminating  $e^{s(z)}$ , we can write

$$\begin{aligned} (4.1) \quad f(z)^{n-1} \left( n f'(z) - \left( s'(z) + \frac{r'(z)}{r(z)} \right) f(z) \right) &= q'(z) - m(f'(z+c))^{m-1} f''(z+c) \\ &+ \left( s'(z) + \frac{r'(z)}{r(z)} \right) ((f'(z+c))^m - q(z)). \end{aligned}$$

If  $n f'(z) - (s'(z) + \frac{r'(z)}{r(z)}) f \equiv 0$ , then  $f(z)^n = A r(z) e^{s(z)}$ , where  $A$  is a non-zero constant. Thus,  $f(z)$  can be rewritten as

$$f(z) = h(z) e^{\frac{s(z)}{n}},$$

where  $h(z)$  is a polynomial. Substituting  $f(z) = h(z) e^{\frac{s(z)}{n}}$  into (1.5), we obtain

$$(4.2) \quad (A-1)r(z)e^{s(z)} + \left( (h(z+c)e^{\frac{s(z+c)}{n}})' \right)^m - q(z) = 0.$$

Hence,

$$(4.3) \quad (A-1)r(z)e^{s(z)} + (G(z)e^{\frac{s(z+c)}{n}})^m - q(z) = 0,$$

where  $G(z) = h'(z+c) + \frac{h(z+c)s'(z+c)}{n}$ . Clearly,  $A \neq 1$ . We set  $g(z) = e^{\frac{s(z)}{n}}$ , and use (4.3) and Lemma 2.2, to obtain

$$nT(r, g) = mT(r, g) + S(r, g),$$

which contradicts the assumption that  $n > m + 1$ .

Now let  $nf'(z) - (s'(z) + \frac{r'(z)}{r(z)})f \neq 0$ . We rewrite the equation (4.1) as follows:

$$\begin{aligned} & f(z)^{n-1} (nf'(z) - (s'(z) + \frac{r'(z)}{r(z)})f(z)) \\ &= q'(z) - m \left( \left( \frac{f'(z+c)}{f(z+c)} \frac{f(z+c)}{f(z)} \right)^{m-1} \frac{f''(z+c)}{f(z+c)} \frac{f(z+c)}{f(z)} \right) f(z)^m \\ &+ (s'(z) + \frac{r'(z)}{r(z)}) \left( \left( \frac{f'(z+c)}{f(z+c)} \frac{f(z+c)}{f(z)} \right)^m f(z)^m - q(z) \right). \end{aligned}$$

Applying the logarithmic derivative lemma and Lemmas 2.1, 2.3, and taking into account that by assumption  $f(z)$  is entire, we obtain

$$T(r, nf'(z) - (s'(z) + \frac{r'(z)}{r(z)})f) = S(r, f)$$

and

$$T(r, f(nf'(z) - (s'(z) + \frac{r'(z)}{r(z)})f)) = S(r, f).$$

Therefore  $T(r, f) = S(r, f)$ , which is a contradiction. Theorem 1.2 is proved.

## 5. PROOF OF THEOREM 1.3

Suppose that  $f(z)$  is an entire solution of (1.5) satisfying  $1 \leq \sigma(f) < \infty$  and  $\lambda(f) < 1$ . Then, by the Hadamard factorization theorem,  $f(z)$  can be rewritten as  $f(z) = h(z)e^{p(z)}$ , where  $h(z)$  is an entire function satisfying  $\lambda(f) = \lambda(h) = \sigma(h) < 1$ , and  $p(z)$  is a polynomial. We substitute  $f(z)$  into (1.5) to obtain

$$(5.1) \quad h(z)^n e^{np(z)} + \lambda(z)^n e^{np(z+c)} = r(z)e^{s(z)} + q(z),$$

where  $\lambda(z) = h'(z+c) + h(z+c)p'(z+c)$ . Thus, we have

$$(5.2) \quad h(z)^n e^{np(z)} + \lambda(z)^n e^{np(z+c)} - r(z)e^{s(z)} - q(z) \equiv 0.$$

We discuss the following three cases:

**Case 1.** If  $p(z+c) - p(z) \equiv a_1$ , where  $a_1$  is a constant, then we obtain  $p(z) = Bz + C$ , where  $B \neq 0$ . Substituting  $p(z) = Bz + C$  into (5.2), we get

$$(5.3) \quad e^{n(Bz+C)} (h(z)^n + \lambda(z)^n e^{na_1}) - r(z)e^{s(z)} - q(z) \equiv 0.$$

If  $s(z) - n(Bz + C) \equiv a_2$ , where  $a_2$  is a constant, then by (5.3), it follows that

$$(5.4) \quad e^{n(Bz+C)} (h(z)^n + \lambda(z)^n e^{na_1}) - r(z)e^{a_2} \equiv q(z),$$

which is impossible under the assumption that  $q(z) \neq 0$ .

Next, if  $s(z) - n(Bz + C) \not\equiv a_2$ , then applying Lemma 2.4 to (5.3), we get  $q(z) \equiv 0$ , which is a contradiction as well. Hence,  $p(z+c) - p(z) \not\equiv a_1$ .



**Case 2.** If  $np(z+c) - s(z) \equiv b_1$ , where  $b_1$  is a constant, then we get

$$(5.5) \quad (\lambda(z)^n e^{b_1} - r(z))e^{s(z)} + h(z)^n e^{np(z)} - q(z) \equiv 0.$$

Observe that  $s(z) - np(z) \not\equiv b_2$ . Indeed, if  $s(z) - np(z) \equiv b_2$ , then we have  $np(z+c) - np(z) \equiv b_1 + b_2$ , which is a contradiction by Case 1. When  $s(z) - np(z) \not\equiv b_2$ , then applying Lemma 2.4 to (5.5), we get  $q(z) \equiv 0$ , which is a contradiction. This shows that  $np(z+c) - s(z) \not\equiv b_1$ .

**Case 3.** Arguments, similar to those applied in Case 2, can be used to show that  $np(z) - s(z) \not\equiv c_1$ , where  $c_1$  is a constant.

Combining the Cases 1 - 3, Lemma 2.4 and formula (5.2), we conclude that  $q(z) \equiv 0$ , which is a contradiction. Therefore,  $f(z)$  is not a solution of equation (1.5). Theorem 1.3 is proved.

## 6. PROOF OF THEOREM 1.4

Let  $f(z)$  be an entire solution of equation (1.4) satisfying  $\lambda(f) < \sigma(f) = \infty$  and  $\sigma_2(f) < \infty$ . Hence, we can apply Lemma 2.5 to obtain

$$(6.1) \quad f(z) = U(z)e^{V(z)},$$

where  $U(z)$  and  $V(z)$  are entire functions. Moreover, since  $\lambda(U) = \sigma(U) = \lambda(f) < \infty$ ,  $\sigma(f) = \infty$ , we have  $\sigma(f) = \sigma(e^{V(z)}) = \infty$ . Therefore,  $V(z)$  is a transcendental function. Substituting (6.1) into (1.4), we obtain

$$(6.2) \quad U(z)^n e^{nV(z)} + H(z)^m e^{mV(z+c)} = P(z),$$

where  $H(z) = U'(z+c) + U(z+c)V'(z+c)$ . From the assumption  $\sigma_2(f) < \infty$ , we get  $\sigma(V) < \infty$ , and so  $\sigma(H) < \infty$ . We write (6.2) in the form

$$U(z)^n + H(z)^m e^{G(z)} = P(z)e^{-nV(z)},$$

where  $G(z) := mV(z+c) - nV(z)$ . If  $G(z)$  is a polynomial, then we have  $\sigma(U(z)^n + H(z)^m e^{G(z)}) < \infty$  and  $\sigma(P(z)e^{-nV(z)}) = \infty$ , which is a contradiction.

Therefore,  $G(z)$  is a transcendental entire function. We write (6.2) as follows

$$(6.3) \quad U(z)^n e^{nV(z)} + H(z)^m e^{mV(z+c)} - P(z)e^0 = 0,$$

and observe that  $H_1(z) = e^{G(z)}$ ,  $H_2(z) = e^{nV(z)}$ ,  $H_3(z) = e^{mV(z+c)}$  are entire functions of regular growth with infinite order. Therefore, for  $i = 1, 2, 3$  we have  $T(r, U^n) = o\{T(r, H_1)\}$ ,  $T(r, H^m) = o\{T(r, H_1)\}$ ,  $T(r, P) = o\{T(r, H_1)\}$ .

Applying Lemma 2.5 to (6.3), we conclude that  $U(z)^n \equiv H(z)^m \equiv P(z) \equiv 0$ , which is a contradiction. Hence,  $f(z)$  cannot be a solution of equation (1.4). Theorem 1.4 is proved.



**Acknowledgements.** The authors thank the referee for valuable suggestions that led to improvement of the present paper.

## СПИСОК ЛИТЕРАТУРЫ

- [1] Y. M. Chiang and S. J. Feng, "On the Nevanlinna characteristic of  $f(z + \eta)$  and difference equations in the complex plane", *Ramanujan J.*, **16**, 105 – 129 (2008).
- [2] R. G. Halburd and R. J. Korhonen, "Nevanlinna theory for the difference operator", *Ann. Acad. Sci. Fenn.*, **31**, 463 – 478 (2006).
- [3] F. Gross, "On the equation  $f^n + g^n = 1$ ", *Bull. Amer. Math. Soc.*, **72**, 86 – 88 (1966).
- [4] F. Gross, "On the equation  $f^n + g^n = h^n$ ", *Am. Math. Mon.* **73**, 1093 – 1096 (1966).
- [5] G. Jank and L. Volkmann, *Einführung in die Theorie der ganzen und meromorphen Funktionen mit Anwendungen auf Differentialgleichungen*, Birkhäuser Verlag, Basel (1985).
- [6] W. Hayman, *Meromorphic Functions*, Clarendon Press, Oxford (1964).
- [7] K. Liu, L. Z. Yang and X. L. Liu, "Existence of entire solutions of nonlinear difference equations", *Czech. Math. J.*, **61**, 565 – 576 (2011).
- [8] K. Liu, T. B. Cao and H. Z. Cao, "Entire solutions of Fermat type differential-difference equations", *Arch. Math.*, **99**, 147 – 155 (2012).
- [9] K. Liu and T. B. Cao, "Entire solutions of Fermat type  $q$ -difference differential equations", *Electron. J. Diff. Equ.*, no. 59, 1 – 10 (2013).
- [10] K. Liu and L. Z. Yang, "On entire solutions of some differential-difference equations", *Comput. Methods Funct. Theory*, **13**, 433 – 447 (2013).
- [11] P. Montel, "Lecons sur les familles normales de fonctions analytiques et leurs applications" [in French], Gauthier-Villars, Paris, 135 – 136 (1927).
- [12] C. W. Peng and Z. X. Chen, "On a conjecture concerning some nonlinear difference equations", *Bull. Malays. Math. Sci. Soc.*, **36**, 221 – 227 (2013).
- [13] X. G. Qi, "Value distribution and uniqueness of difference polynomials and entire solutions of difference equations", *Ann. Polon. Math.* **102**, 129 – 142 (2011).
- [14] X. G. Qi and K. Liu, "Uniqueness and value distribution of differences of entire functions", *J. Math. Anal. Appl.*, **379**, 180 – 187 (2011).
- [15] X. G. Qi and L. Z. Yang, "Properties of meromorphic solutions to certain differential-difference equations", *Electron. J. Differ. Eq.*, no. 135, 1 – 9 (2013).
- [16] X. G. Qi, Y. H. Cao and Y. Liu, "On properties of entire solutions of difference equations and difference polynomials", *Math. Slovaca*, **65**, 545 – 554 (2015).
- [17] J. F. Tang and L. W. Liao, "The transcendental meromorphic solutions of a certain type of nonlinear differential equations", *J. Math. Anal. Appl.*, **334**, 517 – 527 (2007).
- [18] Z. T. Wen, J. Heittokangas and I. Laine, "Exponential polynomials as solutions of certain nonlinear difference equations", *Acta Math. Sin.* **28**, 1295 – 1306 (2012).
- [19] C. C. Yang, "A generalization of a theorem of P. Montel on entire functions", *Proc. Am. Math. Soc.*, **26**, 332 – 334 (1970).
- [20] C. C. Yang and H. X. Yi, *Uniqueness Theory of Meromorphic Functions*, Kluwer Academic Publishers (2003).
- [21] C. C. Yang and P. Li, "On the transcendental solutions of a certain type of nonlinear differential equations", *Arch. Math.*, **82**, 442 – 448 (2004).
- [22] C. C. Yang and I. Laine, "On analogies between nonlinear difference and differential equations", *Proc. Japan Acad. Ser. A.*, **86**, 10 – 14 (2010).

Поступила 5 июня 2015